ERIBETD A O &3 (R7. 1A RFE)

it E =S EEANEAFERADOCEG4ANE)
AR 43,940 22,035 21,905 NhF L 592
HAAERAD 42,249 21,095 21,154 24)EY 219
SNEAFREAD 1,691 940 751 B E 191
2oV 162
[EE 18.790]
TEREAAOLHENEAEREZED) _
L] e ETE thiEsF ] Bt Arh | BHitE
AR 3,373 3,427 3,119 2,248 1,164 4,880 2,674 504
B 1,703 1,773 1,531 1,137 588 2,465 1,258 207
x 1,670 1,654 1,588 1,111 576 2,415 1,416 297
i 1,423 1,445 1,287 1,057] 524 1922] 1,101 257
B8 i EXE |[HEMMBHERMmI] s [if=ks HK
AR 3,230 2,359 3,115 1,028 1,206 3,408 1,263 2,166
B 1,629 1,147 1,575 530 598 1,696 627 1,118
x 1,601 1,212 1,540 498 608 1,712 636 1,048
i 1,353 1,004 1,327 596 730 1,479 563 929
EE =it
AR 2,423 2,353
] 1,236 1,217
% 1,187 1,136
HE 915 878
TEREAIAQDGEAEREEELLY) _
HE e ErRE thiasF AR EH Bt avh | EGEE
A0 3,276 3,365 3,073 2,132 1,071 4,775 2,655 413
] 1,644 1,738 1,501 1,069 537 2,401 1,248 165
% 1,632 1,627 1,572 1,063 534 2374 1407 248
B8 i EALS |[HEFsEHERIE] Jeils Fi=kd K
A0 3,163 2,276 3,038 798 845 3,332 1,245 2,101
B 1,599 1,098 1,520 387 415 1,667 615 1,078
oS 1,564 1,178 1518 411 430 1,665 630 1,023
EE =it
AR 2,370 2,321
8 1,206 1,207
oS 1,164 1,114
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kil = R FhiBsF & H Bt avh | HHEE
A0 97 62 46 116 93 105 19 91
B 59 35 30 68 51 64 10 42
oS 38 27 16 48 42 4l 9 49
BE = EAS |[HEFMEHERMIE] JtiLE [il=ks B
A0 67 83 77 230 361 76 18 65
B2 30 49 55 143 183 29 12 40
= 37 34 22 87 178 47 6 25
EE =07
A0 53 32
B2 30 10
= 23 22

KEFM25F7ARIY ., HHBHDORRIZONT, —HEELELS =,




